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20244E9A28H (1) FEE 1245 AR (—TL—2X(ARBIIL—TF), FEE 224 : RILNEFILTRE(C&DIIL—T)., FEE3IDIE : GBI 7

SU—RIIL(E & FHIL—T)

e e B B |M[| B R mess |16 26 36|46 5G 66| k| 7 08 AVG
1[Arir| 568| &8 Hpa 51| &4 MBS —RDIL/ABS |258 212 269] 739|265 218 258| 741 1,480 |246.66
2|Arir|es 583 HEH HIE |53|&£ [J —-Bow |1l [186 253 279| 718|280 218 213[711| 1,429 [238.16
3larr| 587 SH WE |54 A1 TH>T7—(#k)|223 214 279| 716224 173 233|630( 1,346 |224.33
4lari»| 589 IREF—1F 54| B3 FRIILIRE (195 244 211[650(233 236 216/685( 1,335 [222.50
5|A»»| 513| #8H @b |47|&L [N &K Co.,Ltd. 212 213 279[ 704207 216 206629 1,333 [222.16
6lAr»|s 365 &0 FK (35| A|(BkK)IOFT—)LR|172 233 223628279 225 196| 700( 1,328 [221.33
7|An| 451 2B IET |42| Ao rosswemaryit 216 234 201|651 (216 235 225(676( 1,327 [221.16
8|Arir| 470 IMWRK U [43| Ha|+vzsmoi/sTeeL sporTs (205 190 215(610(234 217 220{671( 1,281 [213.50
olarir|s 525| FIl {BTE 48| A|sES 5 RIIL/ABS [ 248 193 148|589 (214 254 199|667| 1,256 1209.33

10|ar~| 540] EE 88 [48| A|vvRoAu>erroi]227 218 183]628[233 167 214|614 1,242 207.00
11|Ar>| 574 ZEHAZET |51 B|TU— 213 191 225/629(178 213 191{ 582 1,211 [201.83
12| Arir|S 544| A H° (49| A|kLT)/URD)L 228 192 179 599(224 215 164{603| 1,202 [200.33
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20246F9H28H (1) FRE 1R 1 AI(—IL—>X(ARBIIL—T). FRE22I5 DRIV NETILTRE(CADIIL—T), FEEIDIG  HEIT 7 ZU—KI)L(E &FIIL—TF)

i EF & SusF || mEESs—8 |16 26 36| | 4G 56 66| mek| 27T | ave |VC|C| Ce2A

[[[=¥iva Fi&6GT/P 1G |TOTAL| F&6GT/P
1| A [27%| LA 8F wF(v<EN FU3| G|EEIS> RR—)L|183 184 235/602|225 189 197[611| 1,213 |202.16] 1 | 6 | 1,219
2| A |7 BIR BB mF|AOT> EI| A|7AF3—RDJL 171 193 158/ 522 (190 222 247|659| 1,181 [196.83] 0 | 0 | 1,181
3|avir 7= BE #58E wF|=FOT 27| A5+ h—RF—L—>|203 204 173| 580|258 159 172|589 1,169 [194.83] 0 | 0 | 1,169
4| Arsr |17 | BN T m| YD H3T| A|REXSY—L—> |162 193 210/ 565|183 191 181|555| 1,120 |186.66] 1 | 6 | 1,126
S| Arir | 27| B BBS w3 | DHIY || Fo h—RF—L—>|173 213 186 572|167 186 184|537 1,109 |184.83] 0O 0 1,109
6| Arir|m7| TR BE mF| JFH II| A|AW/(—UL—>X|210 184 181|575(175 174 169|518| 1,093 |182.16] 2 | 12| 1,105
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20244F9A28H (1) FEE1DIH AN —IL—2X(A&BIIL—T). FEE28H : TR NEFILTRE(CADIIL—T), FEE3IRIS MBI 7 =U—RIL(EXFIIL—T)

A s EF A Suns || mEess—2 |16 26 36| 8|46 56 6c|mx| 77 | ave |N/C|H/C| O

[1:iva FE6GT/P 1G |ToTAL] F3E6GT/P
1 Amr |=7=| At ZF wmx|AF6S oh3| G|F+a b—R5—-L—>|211 246 246 703|213 206 220(639| 1,342 [223.66] 9 | 54 | 1,396
2| Arir | 7= | BB BER mF|PbD 1ve| A h—RF—L—>|257 216 242 715205 239 231|675| 1,390 [231.66] 0 | 0 | 1,390
3| A |7 Nl BX m|voD vavs| ARG —L—> |249 204 225/678 (246 236 218/ 700| 1,378 [229.66] 0 | 0 | 1,378
4| Apir |72 |74 1 Fobo-h 8F (745" 1- Mobo-) | 5| TOMODACHI LENES (247 266 213| 726|191 198 259648| 1,374 [229.00| 0O 0 1,374
5| Arsr |2 77| wonrcor s mF|vronroor—s | | EHBRS—RIIL (223 225 214[ 662225 226 240(691| 1,353 [225.50 0 | 0 | 1,353
6| Amr |7 LA B mF|PxEN YIS | B|EEIS> RAR—)L|[193 196 215|604 (217 216 226(/659| 1,263 |210.50] 10 | 60 | 1,323
7| Arir |57 | SAIFE K&l mF (DDA HARY [ess | P4 h—2F—L—2> 178 244 215(637(231 202 215(648| 1,285 |214.16] 0 | 0 | 1,285
8| Arsr | 17| EAR B mx|Box ST B|FHRLTISS RARDIL 196 194 179| 569 (224 216 223|663| 1,232 |205.33] 3 | 18| 1,250
9| Amsr | 7| Wl AR ms|«FHD HXV| B|FA ~—ZF—L—>|169 267 192|628 (206 234 175/615| 1,243 |207.16] 0 0 1,243
10| Ay |2 7%| BRI fB— mx|rpvv s | AXKLDIGROIL 216 206 266| 688 (191 203 160|554 | 1,242 |207.00f 0 | O | 1,242
11| Arpr | 57<| BEBE  BETR =% Y bD JULE |sms|F+ h—R5F—L—2>|232 210 208/ 650|180 197 187|564 | 1,214 |202.33] 0 0 1,214
12| Arir |57=| B B wFFDT FES| G| AR —TL—>X|226 180 213| 619|235 194 165/594| 1,213 |202.16] 0 | 0 | 1,213
13| Amr|27%| BAE B— mF|9n/\> traF | A|HEABA—ISRIIL (175 193 176|544 (200 207 196|603| 1,147 [191.16] 8 | 48| 1,195
14| Ayr [ 277 | FEMIER wx|vns> <wobs | A7 E—ARDILIEAR | 181 146 267 594|172 201 188/ 561| 1,155 [192.50] 6 | 36| 1,191
15(Amr|t7%| BF B aF|z=vss 7y | A|AR—OL—>X|184 181 204| 569|213 213 190(616| 1,185 [197.50] 0 | 0 | 1,185
16| Amr|57%| fFE W mF|AhD A XL| A|KR—HL—>X|212 160 213 585|179 208 200{587| 1,172 |195.33] 2 | 12| 1,184
17| Amr 7= BB B mx|U b W3S | A9+ h—R5—-L—>|196 196 185 577|235 180 187(602| 1,179 [196.50 0 | 0 | 1,179
18| Amir|#7%| kI BE3L mF|3H+« sheO| AssEsyrvES RADIL (173 208 171552 (242 180 198/ 620( 1,172 [195.33] 0 0 1,172
19| Arir |72 A4 |UZ mF (#5465 e7en | AP+ b—RH—L—>|226 148 195/ 569|199 193 193] 585| 1,154 [192.33] 0 | 0 | 1,154
20| Apir |27 B SEZ= mE|osr~ awvw | B|YA h—X5—L—> (176 174 158/ 508|204 168 211|583| 1,091 [181.83] 9 | 54 | 1,145
21| Arvr 27| A BF wF[ASH  LOF || AN/~ L—>X 132 199 194| 525|168 223 185/576( 1,101 [183.50 0 [ 0 | 1,101
22| Ay |27 B FE mF[9ho 9h=F| B[P b—XH—L—> 157 177 206/ 540|215 182 148|545 1,085 [180.83] 0 [ 0 | 1,085
23| Arvr 27| Bl 18 wF(AYF EHIL| B|A/—OL—>X 151 167 232| 550|181 195 147|523 1,073 |178.83] 0 [ 0 | 1,073
24| Apir |27=| IUO A mE|v<oF HE| B|AR—TL—>2X (206 199 158|563 (191 173 141/ 505| 1,068 [178.00 0 | 0 | 1,068
25\ Amir [# 7| BBE % mF| YD S e AR —> X [121 187 212| 520|168 186 172|526 1,046 |[174.33] 0 | 0 | 1,046




